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v Checkpomt Quiz1 AD\’ANCED
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Use with Lesson 10-1 through 10-3.

Find the area of each figure.
<, . 2.

T4 ft 5ft

Find the area of each figure. Give an exact answer and an approxnnate

- answer to the nearest square unit. §
N i
4= A=
A= l : =E
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Name Class Date Q/

v Checkpoin’t Quiz 2
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Use with Lesson 10-4 through 1 08 ]
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Use the space figure on the right for 1 to 3. ; ‘ 28 ft .
1.. Name the space figure.. | ' '
- , 36 ft
2. Find the surface area of the space figure.
3. Find the volume of the space figure to the n'ear'est tenth.
Use the space figure on the right for 4 and 5. _ am
4. Name the space figure.
45m
. ’ .

5. Find the'surface area of the space ﬁgu'r‘e. 45m L

..ll.l..l.III"...II'..'....II...'l..ll...ll.'...llll..l..l..ll..ll....l..
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Class . Date _

Name

Cumulative Review | S o 5’1 :
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Chapter 10

Circle the letter of the best answer,

L3x+y) —x+y="

A.2x +2y B, 2% + 4y - C. o 4x + 4y . D. 4x+2y
2. Estimate 79.783 X 31.6691. A o R
F 240 G. 2,400 H. 24;090 - J. 240,000
3, In standard notation, 9.03 X 107 is’ '
A. 9,030,000,000 B. 9,030,000 C. 90,300,000 D. 903, 000 00{)
4. Which equation describes four less than twice @ number i is negaz‘we elght? §
"FE 2x—4=-8 G.4—2x=—8 H. 2(x — 4) = ). 4x -2 = -8 g
5. Which fraction is equal to 0.1257 | ' | 2
At B} o D} 2
6. Which equation has y- mtercept -39 o
F3x—y=3 G. x—3y=3 H.o x +3y=3 L 3x+3=y
7. The measure of the supplement of a 71° angle is ' |
A.19° B. 17° C. 109° D. 107°
8. Find the circumference of a cn‘cle w1th radlus 18 cm. | ‘ ’ @%}
F 18z cm . . G. 324z cm H. 367 cm. - J. 1,2967 cm ‘
9. What space figuré can you form from the net af the right? - \
A, square pyramid ~ B. triangular prism
C. triangular pyramid D. square prism

10. Figure A is a rectangle 8 in. long and 6.5 in. high. Figure Bisa
triangle 8 in. long and 6.5 in. high. Which statement is true

about the areas of Figures A and B? -

E A=B G. A<B | H A=4ip . A=2B
11. A rectangle has a perimeter of 110 ftand a length of 23 ft. What is its |
area?
A.2, 530 ft2 B. 32 ft? C. 2,001 ft2 D. 736 ft?

Fxnd the area of each figure to the nearest tenth, 7
12 141in. 15in. 13. ‘ - 14. 8 cm
. P 7in | |
. - 26in. - ' . _ |

| o e - - ilem

a0 ....Q..........C....l.O...l..I..II..l...ll'Il.'ll'."..l....l'l.l..l'lll..7

Cumulative Review - Pre-Algebra Chapter 10
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Name.

At bl e

_ Cumulative Review (continued) |

Chapter 10

Find the surfac‘é area and volume of each figure to the nearest tenth,

m
- 6em

16. V =,

' 47. SA. =

18. V=

12m

19. SA. =

15. SA. =

20, V=

N’

21. Compare the volumes of the prism and
pyramid shown. .

.l.l......’lI.Q...'.......I.....'.........'...I...l!

. Pre-Algebra Chapter 10

18m

18 m
\ 27m

J27m 18m 18 m

18m

IQ.I.I.;O.I.‘.’I.I....O
Cumulative Review . m
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 Use with Lessons 4-5 through 4-8.

- Write three fractions equivalent to each fraction,

Class ' Date

¢ Checkpoint Quiz 1.
Use with Lessons 4-1 through 4-4.
Test whether each number is divisible by 2, 3, 5, 9, and 10. ‘
1. 93 2. 156 S 3. 4230

?

Evaluate each expression. | '
4. a% fora =17 | . 5 x3 forx= -1 6. _—3};2, forh = —5

‘Write in simplest form.

12 . o 22 da
7Zogs 8.3 9 15
*10. Write two pairs of expressions whose GCF is 3%,
Class Date

¢ Checkpoint Quiz 2

.I...C...l.....l..-l..ll"."..l.....l...l

2 . . 8
1.3 2. &

‘Evaluate for ¢ = 3and b = —3. Write in simplest form.,

- + b - - b
3. & 4. ¢1? 5 &b
Graph the rational numbers below on the same number line.
4 3 '
6. 0.7 75 8 ~i >
Simplify each expression. -0 0 10
: o ! 2,5 |
9, 53 .58 : 10. (&) . 1. i—‘,;’mf

12. If 15 out of 20 students vote to go to.the science museum, what fraction of
the students want to go to the museum? Write the fraction in simplest form.

- ...l.lI.....Ill......CI..I.l...l.......“_I"..l............'..'C..'......l..

Checkpoint Quizzes Pre-Algebra Chapter 4
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Cumulative Review
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Chapter4

Circle the letter 'of the best answer.

1. Simplify -3 + 2 -4 — 2. -
A -2 B.3 C1
2. What is the opposite of 197
E -1 G. % ~ H. 19
3. Simplify 5 + (—4) + (=5). -
. A4 B. 14 C. ~14
4. Simplify —2y — (3k — 2y) + 3k. o
RO G. 4y — 6k H. 4y
5. Which integer is not a solution of 36 + x > 147
A5 : B. —20 R C. 22
6. Which number is divisible by both 3 and 27 '
F. 68,211 “G. 45305 H. 28,000
7. Whick expression is equivalent to~6-m-me-n-3 m?
A. ~6m° + 3n B. —18mn C ,—18mn
8. Which expression is the GCF of 12x3 and 32xy?
" F 93x3y G. 96x%y H. 4x
9,
A. m?n3 B. m_2n3 C. m?n3
10. Evaluate —3form = 5,n = 25. |
E S G. 3 H. 3
1. Simplify x5 - y2 - x3 +'y. - _
A. x3y " B. 2%y C. %3
10,12, '
12, Slmphfyw o
whyl2 wiby12 e 196
F. A G. 5 H.wyz
13. Simplify 572
A. -10 B. 25 | _ C. 25
14. Which is true? _— . - S
F 14>9-3 | G. ~26 — 12 = 38

H. 4[5 + (-2)] = (-2)6

Cumulative Review

[ 1]

J. 50— (=3+5)=55

Date

. —19
. —10

. 6k — 4y
. 58,404

;. —183m-n

. dxy

. 1842

4 y12z4

SRR EEYRFNNNRNENNNFENNSNNEENEEREEREEE NN E R EEREANEERNE RN NERRENEENERERENENNENERESRJEESNRSE;RJR)
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“‘Name Class Date

Cumulative Review (continued)

(’" lD...'l..‘l..‘.'..‘!ll....t.!.‘...‘...OI....lU.0.0l.ll.!.t.l.ll......'..l..!...

Chapter 4
15. Which exﬁression is équal to x14? _
A x! + x7 B. (x7)2. | C. (x7)7 D A2 A7
16." Which symbol makes (5%)*| |5° - 5% true? |
F < G. > - H. = ' J.‘.l.lone
17. Write a variable expression using parentheses for the total ' x : 3

18.

19.

20.

'.........l...'.'.'.......I...l..!l...l...l...........'l'.."...l.....‘... T s,

Pre-Algebra Chapter 4 Cumulative Review

“The quotient of a number n and 3.2 is negative fwénty-ﬁve ,

area of the rectangle. Then find the area forx = 5.

hundredths. Write and solve an equation to find #.

List all the factors of 56.

A restaurant offers a breakfast special of one egg, toast, and orange or

tomato juice for $1.79. The egg may be poached, scrambled, or fried. List

all the breakfast special combinations that are available. How many are

there? Explain how you know you have them all. : .

e e Ve Sory 3 LD, N TR\ SR 2V =t T

i g A
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- ¢ Checkpoint Quiz 1

'll..l..lO.ll.l.".lI..I......00..0...!'.'....0.0...l.l...Illl.l.'l!..‘t.t.l..

Use with Lessons §-1 through 8-4.

1. Graph 4x-— y = 3 on a coordinate plane. S ' Ty
2. Is{(—3,6),(—2,5), (-3, 1), (4, —3)} a function? Explain.

La}
=

X
-4 |-2 10 4
3. Find the slope of the line through the points A(8,7) and T2
B, -2). | 4
4. What is the slope and y-intercept of y = —8x + 1?
slope: _ | | y-intercept:
5. Write a rule to describe the cost ¢(p) of an 1tem on sale for 25% off as a
function of its original price p.
6. Which rule is the same function as 9x + y = 47 _ _ _
Ay=9x—4 B.y=0x+4 Cy=-9%+4 D, y=-9%%—4
Name Class Date

v C’hECkPOIﬂt Quiz 2 " Technology in Junior High Schools
USe 1.4;1'}}1. Zé&sz)ns '8-5 thi‘.c;l;:;g.}; .8_7 """ Year | Percent with | Percent with
' modems CD-Roms
_ Use the table at the l’ight. 1994 31 31
1. Make a (modems, CD-Roms) scatter plot. 1995 41 47
2. Is there a positive correlation, a negafive 1996 47 54
correlation, or no correlation between the - T - i
percent of junior high schools with modems and the ecl:'?orlloggr:g:;;mor
percent with CD-Roms? 70 9
g :
. g 60
3. Draw a trend line on your scatter plot. Use A
the trend line to predict the percent of © 30
schools with CD-Roms when 60% have g 0
modems. : ‘E
8 30
]
a.

30 40 50 60 70

0
Percent with modems

.....'l..l.l!l..llIl..l."....lII.II.'.I......‘..l....'....‘.............C
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Cumulative Review
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- Chapter 8

Circle the letter of the best answer,

1. Tracie is 59 inches tall. How tall is she in feet and inches?

A 4ft9in. B. 4ft11in. C. 5ft2in. - D. 5ft9in,
2. The probability that Steven gets a hit playing baseball is1in 4 times at

bat. About how many hits would you expect him to get in 29 times at

bat? )

F. 5 hits G. 8 hits ~ H. 6hits ) 7hits

3. When a number is multiplied by %, the result is the same as when 5 is
subtracted from 3 times the number. Which equation describes the

situation?

A2n—3(n“—5) 3211—5—311 C.%n=3n-5 D.%(Sn——S)‘
a3k +2d= - |
E 53 TG 5% H. 5% "L
5. Which ordered pair is not a solution of 6x + 3y = 187 :
A. (4,-2) B. (3,~1) C (—1,8) D. (2,2)
6. Find the slope of the line through (3, —2) and (1, 4). :
F—1 G. 3 H. -3 ). 3
7. Which point is a solution of the system4x — y = 9and y = 2x — 77,
A (2,-1) B. (3,-1) C. (—1,—-8) D. (1, —5)
8. Solve —3n + 1 = —8.
F n=3 G. n=-3 H.on=3 J.n= -3
9., Express the equation 3x = 2y — 8in slope-intercept form. ‘
A3x—2y=-8 B.2y=3x+28 C.y&%x-{—éi. ,—D.y“—‘%x—4
10. Find the slope of the line with equation 3x - '4y = 24. |
-4 G. 3 H. % ). =3
11. Which equation has a solution of 57 . . o .
A7 —-2x=-3 B.2x—-9=-1 Cd4-x=1 D. x— 8=

12.. Write a function rule to describe the amount of sales tax #(p) as a
function of the price p of an item purchased if sales tax is 6%.

' .Cllll....l.l...ll.I.Il.‘.'l..'l......C....'...0‘.0..0.'....ll.l..l..l...l

~ Pre-Algebra Chapter 8 Cumulative Review




Name ' Class ' Date

Cumulative Review (continued)

II...'.....C'll....l..ll'..'ll."..'l..l.l.‘..l

Chapter 8 5
Use the equation 4x — 2y = 8, for Exercises 13-14.

.I..'...............'.....I....

13. Complete the table of ordered pairs 14. Graph the equation,
x y - ' 4“J’
0 | | )
2 | T ) p
3 —4 |- ' IIEN
: L2
4

The table haé data on Ayla’s height at certain ages. Use the data for
Exercises 15-17. ‘ '

15. Use the data to make a (age, height) scatter plot. Draw a trend line.

160 , Age | Height
150 (cm)
. 6 120
5 8 132
T 130 . 9 139
120 11 150

0 '6 7 & 9101112131415
Age

16. At what age was Ayla about 125 centimeters tail?

17. About how tall should Ayla be when she is 12 years old?

18. Is height a function of age? Explain.

.....‘I...IIl.l....Il.'....l.......'_..Il...l...'ll............“...lll....

Cumulative Review Pre-Algebra Chapter 8
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v Chéckpoiht Quiz 1
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Use with Lessons 13-1 through 13-3.

Find the next three terms of the sequence. Then write a rule to describe
the sequence. -

1. 56,28,14,7, _ .
- rule: S S ‘
Make a table for integer values of x from 0 to 4. Then graph the function.
2.y = 4(0.5)F | | R 52
Il y = 4(05% <y |4
: | _ )
2
: 1
o L 2 3 4 %5

v Checkpoint Quiz 2 N
oo with Lessons 13-4 throwgh 137, e

Tell whether each polynomial is a monomial, a binomial, or a trinomial,

1. x? - xy | C 2 X%y : ' 3 x2+3x+y

' Eyaiué\te each polynomial for x = -—~2_a11d;v =4,

4. 4x + 3y 7 misx—a? 6. 3y2 + 7x — 8
Simplify. - . |
7. (7a—2b) — (3a - 5b) 8. 2ma(hm —3n2+nm) 9. (n=3)(n+7)

.l'!..'.O..I....“..I...l.lI.".....-.....I!.........."..C..........‘Il.... S

Pre-Algebra Chapter 13 S Checkpoint Quizzes
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_ Class __. . vaie

o Cumulatwe Rewew
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Chapter 13

Cixcle the letter of the best answer.

1.

10.

11,

12.

Pre-Algebra Chapter 13 _ "Cumulative Review

Hy=4x? -4 )y = —4x% 4 4

-Wnte an mequahty for The fotal, 1, 1s not more than eighteen. -

A.t=18 B.t=18 - Cor>18 D. 1 <18
Solve k + 3 < —2. T o
Fk<5 . G k>-5 Hok<-5 L k>s
Evaluate 3x2(2x + 1) for x = —3. : L

A. 189 . B. 189 C. —135 D. 135

85% of zis 170.Find z. ; | |

FE 1445 . G 1445 H. 200 J. 50

In the figure at the right, AJKL ~ APQR.  ~ p oo J S6om K

Find KL. | | |
A 42 cm . B. 77 cm : 3{)01117

‘ . . 55cm ‘ :
C. 393cm o . 40.7 cm . . R

R . T
On a scale drawing of a house, the kltchen is - :
42 in. long. The actual room is 18 ft long. Find the scale.

E lin:4{t G. 1in.:21t -H. lin.: 88t . - . lin.: 451t
Apprommate the volume of a sphere w1th diameter 61 m Use 3.14 for 7.
‘A.904.32 in> - B. 452.16in> K . 37681 m _ D. 113 04 in.3
2z - 3)* = |

F 42 - 122+ 9 G. 22 ~6z+9 H 42 +122+9 + 1 272 —12z+9

A rectangle 15 cm wide has penmeter 80 cm. Find the length of the
rectangle. '

A.25 cm B. S0cm C 125 D. 65 cm
Match the graph with an equation below. _ Iy
Foy=—4jx| +4G. 4[x] =4 | 5

¥

Which figure has a volume greater than 400 cm?
A. a cylinder with radius 6 cm and height 4 cm

B. a cylinder with radius 4 cm and height 6 cm

C. a cone with radius 6 cm and height 6 cm

to (O

" D. a cone with radius 4 cm and height 4 cm

An item on sale for $8.75 is 70% of the ongmal price. What was the
original price?
F. $12.50 . G. $9.75 - ~H. $14.25 1. §6.13

l..'l.!l.I.‘.......'......lllll......‘ll.l.ﬂl..
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Cumulatlve Review (contlnued) N ' o
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Chapter 13

13. Find the dlstance Alisha traveled if she drove 32 hours at
a rate of 58 mi/h. ‘ -

Find the area of each ﬁgure Round to the nearest tenth of a unit where

necessary..
14. ' | 15, - 20
Lo _ 12 ft
. - 9in. . : t
. . , ‘ ' e
16. Find the perimeter of the triangle as a o o E
"polynomial with as few terms as possible. o (G- S)N 2)em ‘
| : : : (2 +5x~7)em
Simplify. _ '
17. (3zy + 2y - 4y) + (~2zy — - 2y% + Sy)
| | 2
18. 3:(212 + 5t — 6)
' E:
19. Complete the table and graph the function. y = 10(%)x §
x| y=1003) x, y) ! i
- 10 a
0 2
8 2
1 6 ; :
2 4 5
3 ) :
4 | . ‘ ‘ - ' — 1 1 > X g
. , o 70 1 ' 2 A 3 ‘4 5 o

20. Compare the graphs of quadratic and absolute value functions.

.....ll...l......ll.l..'.lI'.I....‘.'l.l.'.l.'....ll..l'.ll.l'.‘...........
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Name Class Date

‘v Checkpoint Quiz 1
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Use with Lessons 11-1 through 11-3.

Estimate to the nearest integer,

1. V40 2. V&5 ‘ 3. —V58

The lengths of two legs of a right triangle are given. Find the length of the
hypotenuse. Round to the nearest tenth of a unit.

4. 21in,28in. 5. 9c¢m, 16 cm 6. 12m,12m
Find the length of AB and the midpoint of AB. Round the length of AB §
to the nearest tenth. &
A(0,—3)and B(6,5) 7. length: - 8, midpoint z
A(8,—4)and B(—2,-1) 9. length: 10. midpoint
Name Class Date e),

v Checkpoint Quiz 2

..'.II.'lbl......................'...'.....I'.....l....l.l..l......'..l........

Use with Lessons 11-4 through 11-6.

Tell whether a triangle with sides of the given lengths is 45°-45°-90°,
30°-60°-90°, or neither.

1. 5,10,5V3 2. 15,15,15V2 3. 11,22, 11V3

Find each value. Round to four decimal places.
4. sin 70° 5. tan 51° ' 6. cos 60°

7. Test Prep Liselle is flying her kite with 62 feet of string
attached to the ground. She measures 5 feet of string from the
ground to a point 4 feet high. How high is her kite?

A 7751t B. 62 ft

C. 496 ft D. 384 ft

mlI.l..'..Q.O...I‘l.'l..I'C....l..!.l.!.l‘l.l...‘..ll.....!‘.!...!l......‘.

Checkpoint Quizzes Pre-Algebra Chapter 11
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Class

Date

Cumulative Review
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Chapter 11

Circle the letter of the best answer.

1.

10.
11.

12,

Which integer is less than —63?

A0 . B. -8l C

Which property is used?
5(3+8) =5(8+3)

F. Commutative Property of Addition G.
H. Assaciative Property of Addition J.

Find the mean of the following numbers.
158 —14 —6 22

53 D. 29

Distributive Property
Commutative Property of Multiplication

A. 65 B. 5 C. 25 D. 125
Which number has 3 as a factor? :

F 311 G. 419 H. 223 J. 528
Solve —3.5 — x = 7.2, _

A x = 107 B. x = 10.7 C x=37 D. x = =37
In APOR, m/.P = 21° and m2Q = 17°. Find m2R. |
F 142° G. 52° H. 322° J. 232

If AABC ~ AXYZ,which statement is necessarily true? ‘ _

A 4B = B¢ B. LB=/X C. £LC=/7 D. 4 = &4
Find the area of a trapezoid with bases 8 in. and 2 in. and height 4 in.

F 20in? G. 40in? H. 25in.2 J. 34in?
Find the volume of a cone with diameter 9 cm and height 6 cm.

A. 508.68 cm? B. 127.17 cm? C. 381.51 cm? D. 254.34 cm®
Which numbers could be the lengths of the sides of a right triangle?

F. 16,30,35 G. 5,12,14 H. 9,12,15 J. 6,89
Find cos 43°.

A. 0.6820 B. 0.9325 C. 0.7314

Which expression represents the area of the figure?

F (5 +4)? G. 9:5+3(5-4)

H.52+4.5 12+ 34 5)

[(EE R EEENERNNESENSNERENBEREEER N EENERESRENNNENEENEENERNENREENEERENENERNRENNERENNNERNRNN]

Cumulative Review

Pre-Algebra Chapter 11
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Name : Class Date

Cumulative Review (continued)
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Chapter 11 .
13. Which estimate is closest to the distance between A and B? ¥
A. 4 units B. 5 units ' T1 B
C. 6 units D. 7 units ' 2//
14. Find the midpoint of AB. yd X
-4 T Vo b | 4
L
15. Find the slope of the line containing poinis A and B, A
‘ L4

16.

17.

18.

Find x.

In the diagram, the angle of elevation from the ground
to the balcony is 32°. Find the height & of the balcony.

Give an example of an irrational number and explain why it is irrational.

I R RN R R R X Y sy S R E RS SRR RN R RN R RN RN S A NN E RN E NN S EENEEELNEEE SRS RN

Pre-Algebra Chapter 11 Cumulative Review E



Chapter 10 Answers
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v’ Checkpoint Quiz fl..

1. 38t 2, 18m? 3. 304 ecm? 4. 7225z in?,

227in2 5. 384 + 327 mm?, 484 mm?

v Checkpoint Quiz 2 |
1. cylinder 2. 4,396 ft2 3. 22,1558 ft>
4. square pyramid 5. 5,805 m?

Chapter 10 Cumulative Review

.B 2.G 3.C 4 F 5D 6F 7.C
8.H 9.A 10.J 11. D 12, 91in?

13. 706.5 ft2  14. 66.5 cm?  15. 345.4 cm?

16. 471 cm®  17. 504 m? 18. 659.9 m?

19. 4,5342in? 20. 28716303 21. Since the
prism and pyramid have congruent bases and the
same heights, the volume of the pyramid is 3 L the
volume of the prism.

Chapter 4 Answers

¢ Checkpoint Quiz 1

1. 3only 2.2and3 3.2,3,59and10 4. 49
5.-1 6. -75 7.% 8.% 9.1 10. Answers
may vary. Samples are given. 6x2 and 9x>; 9x2

and 3%

v Cﬁeckpoint Quiz 2

1. Answers may vary. E%, i‘fg,':"lig 2. Answers

' =8 4 -4 1 - 1
may vary. :3%, 575 303 4. -1 5.3
6-8. . 3 4

—~0.7 1o 5

U S YUV S0 WU TR TN W WS B

-1.0 0 1.0

9. 511 10, 4t 11..ﬁ2 12. 2

]

‘Cumulative Review

B 2.7 3.A 4 F 5C 6.J 7.8

8 H 9.B 10.J 11.C 12.F 13. D
14. J 15. B 16. G 17. 6(x + 3);48

18. 55 = —025,n = —08 19. 124781428,
56 20. poached egg with orange juice and toast,
poached egg with tomato juice and toast,
scrambled egg with-orange j jUICC and toast,
scrambled egg with tomato juice and toast, fried
egg with orange juice and toast, fried egg with
tomato juice and toast; There are 6 combmatxons
List them in an organized way.

Chapter 8 Answers

.
."°'°"O'tooo|o-¢oooo¢-coo-

v Checkpoiht Quiz 1
1.

J21 4
1
L1

-4 -2 jol [ 2 4§5
Lolf
I

2. No. There are two range values for the domam
value -3, 3.3 4, —8,1 5. c(p) -—O75p
6. C .

v Checkpoint Quiz 2
1. Technblogy in Junior

High Schoocls

70 _ :' /

50 : / |

. /V .'
4
30 y 4

0 30 40 50 60 70

Percent with modems

2. positive correlation 3. Sample answer is
shown: about 68%

Percent with CD-Roms

Chapter 8 Cumulative Review

LB 2.7 3.C 4.F 5B 6.H 7.D

8 H 9.C 10.G 11. A 12 #(p) = 0.06p
~4,0,2

14 7

it

Y&

L L2

o (O

14




15, 160
150} :
e /]
£ 140 >
o :
T 130+ //
120

O{N6 7 8 9101112131415

Age _
_ 16, 7years 17. about 156cm 18. Yes. For
each age there is only one height. '

Chapter 11 Answers .

|l.l..'....l...................l

v Checkpoint Quiz 1

1.6 2.9 3. -8 4.350in. 5. 184cm
6.17.0m 7. 10.0units 8. (3,1) 9. 10.4 units

-10. (3, -23)

+/ Checkpoint Quiz 2

1. 30°-60°-90° 2. 45°-45°.90° 3. 30°-60°-90°

4.09397 5.12349 6. 05000 7.C
Chapter 11 Cumulative Review

1B2F3B4J5A6F7C
8.F 9.B 10.H 11.C 1227 13. C
14. (~1,7) 15.3 16. 82mm 17. aboutSm
18, Sample answer is shown. V2; It cannot be
written as the ratio of two integers.

Chapter 13 Answers

..000.0...i.ll.l..t‘l.ll..!l..I

v Checkpomt Qunz 1
1. 2, 4, 8’ Start with 56 and mulnply by 5 repeated—
ly.

> [x y = 4(05)" 9
o]y =4005)0 = 4(1) = 4 ©,4) .
1]y =405 = 4(05) =2 (1,2)

20y =4(052=4(025) =11 (2,1)°
31 y = 4(0.5)% = 4(0.125) = 0.5 | (3,05).
4|y = 4(0.5)* = 4(0 0625) = 0.25| (4,0.25)

N )
HS )

v Checkpoint Quiz 2

1. binomial 2. monomial. 3. trinomial 4. 4
5. -14 6.26 7. 4a+ 3b .
8. 8m%n — 6mn® + 2mn? 9. n? + 4n — 21

- Chapter 13 Cumulative Review

B 2.H 3.C 4H 5B 6.F 7.D
8F 9.A 10.7 11.A 12.F 13.203mi’
14. 27in2 - 15. 2005 2

16. (2x2 +11x—10)crn 17. zy+y

18. 6° + 157 — 18 19, y = 10(3)° = 10;
0,10y = 108) = 51,5y = 10(4) = 24;
(2 24) » = 106) = 1 (. )y = 10(8) =

(‘_" )y
1
. 8 \
6
4 \\ |
2 N
e

> x
0 1 2 3 4 5

20. Sample answer is shown. The graph of a
quadratic function is shaped like a U whereas the
graph of an absolute value function is shaped hke
aVv. -



